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Solved Examples

1.Find the product : (a® + %) (a* + b*) (a + b)(a — b)

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8G31A4ccS6rm
https://dl.doubtnut.com/l/_EVuqHiPv0Cip

2.Find thevalueofc+difc —d = 2, cd = 63.

° Watch Video Solution

3. Find the value of a’® + b

a+b=10 and a — b = 2.

if

° Watch Video Solution

1
4.1fa® + — = 7,find the value of
a

(%)

° Watch Video Solution



https://dl.doubtnut.com/l/_EVuqHiPv0Cip
https://dl.doubtnut.com/l/_PMpcaaMtUBv1
https://dl.doubtnut.com/l/_AV6jHTAcCU4z
https://dl.doubtnut.com/l/_aexlEelsnjsq

1
5.1f a® + — = 7, find the value of
a

(*=2)

o Watch Video Solution

1
6.1fa® + — = 7, find the value of
a

-3

o Watch Video Solution

1 1
7.1f p — — = 4, find the value of p* + —.
p p

° Watch Video Solution



https://dl.doubtnut.com/l/_aexlEelsnjsq
https://dl.doubtnut.com/l/_eqX508CD1ftp
https://dl.doubtnut.com/l/_SXgA80W2cMKD
https://dl.doubtnut.com/l/_kq6QwIFS5p7H

8. Find the value of Pq if

pP—-—¢ =68and p—q= —4

o Watch Video Solution

2
1 3 1

9.If<:1:—|——) = 3,show that z —|——3=0
x T

o Watch Video Solution

10. If a®> + b + ¢ = 50 and ab + bc + ca = 47, find

the valueofa + b + c.

o Watch Video Solution



https://dl.doubtnut.com/l/_kq6QwIFS5p7H
https://dl.doubtnut.com/l/_fHPmCBQebaiT
https://dl.doubtnut.com/l/_GrGgpBzc5lBy
https://dl.doubtnut.com/l/_d7as0LHa5mjC

11. Find the continued product

T+yr—yz+ry+y,z —ry+y°

of

o Watch Video Solution

12. Multiply by using the correct identity

(x+y—z)(w2+y2+z2—wy+wz—|—yz)

o Watch Video Solution

13. Find the value of a® + 8% + ¢® — 3abe

ifa+b+ c=8and ab + bec + ca = 19.

o Watch Video Solution



https://dl.doubtnut.com/l/_d7as0LHa5mjC
https://dl.doubtnut.com/l/_50dIof5M9cmp
https://dl.doubtnut.com/l/_W3MCbMom6qNI

Question Bank 7

1 2
1. Find (Sm + g) -

A.3m2—l— 6_m —l—i
5 25
5 25
C.9m2 + om +i
5 25
D.3m2+ 3_m —I—i
5 25

Answer: C

o Watch Video Solution

2. (mx — ny)(mz — ny) =



https://dl.doubtnut.com/l/_3W5LPmkWQCcT
https://dl.doubtnut.com/l/_26M6mwIXJQgt

A.m2z? + 2mzxny — n2y2
B.m?z? — 2mzxny — 'n,2y2
C.m?z? — 2mxny + n2y2

D.m%z? 4+ 2many + n’y?

Answer: C

o Watch Video Solution

2
1
3. (5z6 + —) =
28 T

1
A 528 +102° + —
VA

1
B.25z' + 10z° + —
z


https://dl.doubtnut.com/l/_26M6mwIXJQgt
https://dl.doubtnut.com/l/_fPBmhaFnA8Z8

1
C.252"% 1+ 10 + —
z12

1
D.52% + 10 + —
z8

Answer: C

o Watch Video Solution

4, (22 + 13) (22 — 5) =

A 224+ 1822 — 8
B.2z* + 822 — 65
C.z* — 822 — 65

D.z* + 822 + 65


https://dl.doubtnut.com/l/_fPBmhaFnA8Z8
https://dl.doubtnut.com/l/_3Tfw5v78tQdt

Answer: B

o Watch Video Solution

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3Tfw5v78tQdt
https://dl.doubtnut.com/l/_XF1FcnQG6v1K

6.(p— q)” + 4pq

Ap” —q

B.(p + q)°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4QBtFHVcTeXv
https://dl.doubtnut.com/l/_kEqblLgQego5

Answer: A

o Watch Video Solution

1 1
8.If x + — = m, then the find value of A —

Amz
"4

B.m? — 2

c.2m? +1


https://dl.doubtnut.com/l/_kEqblLgQego5
https://dl.doubtnut.com/l/_7ayJ26OeKwrn

D.2m? — 1

Answer: B

o Watch Video Solution

1 9 1
9.f r — — = §,thevalueof z© + — is
I xz

A.10
B. 62
C.6

D. 66

Answer: D

[ -


https://dl.doubtnut.com/l/_7ayJ26OeKwrn
https://dl.doubtnut.com/l/_lwi8HERiXj2w

l & Watch Video Solution

1 1
10.1f 22 + — = 83,thevalueofz — — is
x2 x

A.9
B. /85
C. 81

D. 85

Answer: A

o Watch Video Solution

1 1
MN.Ifz + — = 7,thevalueof z* + — is
I a;4


https://dl.doubtnut.com/l/_lwi8HERiXj2w
https://dl.doubtnut.com/l/_WDTv0FL2JzgD
https://dl.doubtnut.com/l/_nSsf5tnapve5

A. 2401

B. 2023

C. 2209

D. 2207

Answer: D

o Watch Video Solution

12 2 b+ 2 b =
. ga C ga c|l = ___

4 212 4 2
A — - —
25ab 5abc—|—c

4 4.5 4 2
B.2—5ab +gabc—|—c


https://dl.doubtnut.com/l/_nSsf5tnapve5
https://dl.doubtnut.com/l/_mfh6mjmRjmvg

% 92 2
C.25ab C

4 5.9 2
D. —
25ab + c

Answer: C

o Watch Video Solution

8B.(z +4)(z — 4)(z* + 16) =

A x> — 64
B.z* — 64
C.z* — 256

D.z2 — 256


https://dl.doubtnut.com/l/_mfh6mjmRjmvg
https://dl.doubtnut.com/l/_SXRlCiiqbfi0

Answer: C

o Watch Video Solution

14.25% — 152 =

A. (25 4 15)°
2
B. (25 — 15)
C. (25 + 15)(25 — 15)

D.25 x 15

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_SXRlCiiqbfi0
https://dl.doubtnut.com/l/_oEDulgojkJV6

15, (393 + (_Tl) 4 2y)2 -

A.9m2—i—|—4y2—6—$ —y+ 12zy
16 4
1 6z
B.9332—|—1—6—|—4y2—|—7—y—12my
C.9w2—|—i—|—4y2—3—x —y+ 12zy
16 2
: Y-+ + vy — 12zy

16 2

Answer: C

o Watch Video Solution

16.(x —y—2)° — (z + y+ 2)° is equal to

A dxy + 4yz


https://dl.doubtnut.com/l/_qjFu4DKHG7ct
https://dl.doubtnut.com/l/_hzzGXlTxmbY0

B. —4xy — 4z

C.4zxy + 4zz

D. —4yz

Answer: B

o Watch Video Solution

17.f z + y + 2z = 0, then 2 + 2y + 3 equals

A.y2 +yz+z2
B.y2 —yz—i—z2
C.zz—xy

D.z2+zw+w2


https://dl.doubtnut.com/l/_hzzGXlTxmbY0
https://dl.doubtnut.com/l/_SdVDVOITFw2d

Answer: D

o Watch Video Solution

18.Ifa2 —|—b2 = 6,a—|—b:4’then ab = ~

A.10
B.5
C. 20

D.7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SdVDVOITFw2d
https://dl.doubtnut.com/l/_aKaJbQMjdYhZ

1 1
19.1f 2% + — = 727,then  — — is equal to
T T

A.5
B. /29
C.25

D. 27

Answer: A

o Watch Video Solution

20. If a+b+c=9and a®> + 8> +c® =21, then

ab + bc + ca is equal to



https://dl.doubtnut.com/l/_orPYGEOGouub
https://dl.doubtnut.com/l/_WMhcb3iFQpEn

A.30

B.15

C. 51

D. 60

Answer: A

o Watch Video Solution

21. If a2 + b® + ¢ = 31 and ab + be + ca = 25, then

a + b+ cis equal to

A. 81

B. 56


https://dl.doubtnut.com/l/_WMhcb3iFQpEn
https://dl.doubtnut.com/l/_ZXCv7mIu867c

C.9

D.6

Answer: C

o Watch Video Solution

22.If a + b+ ¢ = 0, then the value of

is....

A.2

a? + b2 + 2

bc + ca + ab



https://dl.doubtnut.com/l/_ZXCv7mIu867c
https://dl.doubtnut.com/l/_cXYzx8sE0Xpn

Answer: B

o Watch Video Solution

3
4 3
23. (gm — Zy) is equal to

64 27

9
o 3 <4l 3 2 g 9
A. 7 + 61? + 4zy + 1Y
64 27 9
B. — 3 = 3_4 2, 2
T T ey T YT g
64 27 9
C. — 3 = 3_4 2 e 2
T T eaY YT T
64 27 9
D g3 _ 21,3 2. 9 9
27:{: 64y + 4dx°y 4:cy
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cXYzx8sE0Xpn
https://dl.doubtnut.com/l/_0tb5typJdTOx

3
1 1
24, (w2 — —) = 2% — — 4 ....The missing part is
2 6
3
A 3z? — —
72
3
B. —3z* + —
T
9 3
C.—3z° + —
T
3
D.3z* — —
4
Answer: C

o Watch Video Solution

25.(p — q)3 —(p+ q)3 is equal to

A. 2p3 — 2q3


https://dl.doubtnut.com/l/_QWsYQORHP6ur
https://dl.doubtnut.com/l/_dof5SzbJyaap

B. 2p3 + 2q3

C.2p° + 6pg?
D. — 6p2q — 2q3
Answer: D

o Watch Video Solution

26. The value of
a—b=4and ab= — 2is
A. 88
B.40

C.72

a® — b3,

when


https://dl.doubtnut.com/l/_dof5SzbJyaap
https://dl.doubtnut.com/l/_7cEyykAvhzZB

D. 64

Answer: B

o Watch Video Solution

27. The value of 23 + ¢, when 2z + y = 5 and zy = 6
is

A. 125

B. 35

C. 215

D. 107


https://dl.doubtnut.com/l/_7cEyykAvhzZB
https://dl.doubtnut.com/l/_U7bd86bvn7O7

Answer: B

o Watch Video Solution

1 1
28.If x + — = 5, then > + — is equal to
i a:3

A. 125
B. 140
C. 110

D. 100

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_U7bd86bvn7O7
https://dl.doubtnut.com/l/_aXTOqDyzAQwQ

1 1
29. If 2 + — = 51, find the value of 23 — —
x x

A. 364
B.343
C.153

D. 103

Answer: A

o Watch Video Solution

30. (0.8z + 0.3y) (0.64z” — 0.24zy + 0.09y>) equals

A. (0.8 + 0.3y)’


https://dl.doubtnut.com/l/_RKiSoJt1R1aE
https://dl.doubtnut.com/l/_yLAJSfE4dKK7

B. (0.8z + 0.3y)°
C. (0.8z)° + (0.3y)*

D. (0.8z)" — (0.3y)*

Answer: C

o Watch Video Solution

31.(2z — 5) (42® + 10z + 25) is equal to

A (2z —5)°
B.8z* + 125
C.(2¢ +5)°

D. 8z3 — 125


https://dl.doubtnut.com/l/_yLAJSfE4dKK7
https://dl.doubtnut.com/l/_m1REp89e6Cxt

Answer: D

o Watch Video Solution

32. The value of 4.359 x 4.359 — 1.641 x 1.641 i

4.359 — 1.641

A.6.3

B.6

C.3.2

D.4.6

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_m1REp89e6Cxt
https://dl.doubtnut.com/l/_dqWGuANGJq2p

23 (6.4)° — (5.4) _
T (8.9)% £ 8.9 x 2.2+ (1.1)°

A.0.118

B.0.92

C.1.5

D.0.61

Answer: A

o Watch Video Solution

34 3.7 x3.7T+23x23+2x37x23
| 4.6 x 4.6 — 3.4 x 3.4 o



https://dl.doubtnut.com/l/_Jna8KYr6IHMi
https://dl.doubtnut.com/l/_MktD9Hbidrwo

C31
4

D31
2

Answer: A

o Watch Video Solution

8.73 x 8.73 x 8.73 + 4.27 x 4.27 x 4.27
T 8.73 x 8.73 — 8.73 x 4.27 + 4.27 x 4.27

A1

B. 12

C.13


https://dl.doubtnut.com/l/_MktD9Hbidrwo
https://dl.doubtnut.com/l/_BZkQuVgphP2I

D.10

Answer: C

o Watch Video Solution

36, 0-06 X 0.06 x 0.06 — 0.05 x 0.05 x 0.05 .
""0.06 x 0.06 + 0.06 x 0.05 + 0.05 x 0.05 &

A. 0.01

B. 0.001

C.01

D. 0.02

Answer: A

[ -


https://dl.doubtnut.com/l/_BZkQuVgphP2I
https://dl.doubtnut.com/l/_Od0FWBWOnm2J

l & Watch Video Solution J

37 (1-a)(1+a+a®)+(1+a)(l—a+a®) is
equal to

A. 2a°

B. 2

C. —2a°

D.O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Od0FWBWOnm2J
https://dl.doubtnut.com/l/_Re9mrXFebyFX

38. The product
(2z — 3y + 52) (4332 + 9y® + 252% + 6xy + 15yz — 10z 2)
is

A 8z° 4 27y + 1252° — 90zyz

B.8z> + 27y° + 1252° + 90zyz

C.8z° — 27y’ + 1252° — 90zyz

D.8z% — 27y° + 1252° + 902yz

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DDxy4r3uOdHO

30. If x+y+z2z="72y+yz+ 2z =12, find the
value of 2® + 3* + 2% — 3zyz.

A. 25

B. 91

C. 105

D. 59

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FyJ00euNdb6p

40. The product

(z+y+2)|( -9+ (y— 2 + (2 - 2)°| is equal

to

A 3+ y3 + 2% — 3xryz

B. 2> + y3 + 22

C. 3xyz

D. 2[(:{:3 + 9 + z3) — 3:cyz]
Answer: D

o Watch Video Solution

Self Assessment Sheet 7


https://dl.doubtnut.com/l/_CLuH7hLyt8zu

L(—a—->b(b—a)is

A a® + b
B.b — a2
C.a’> — b

D. — (b* + a?)

Answer: C

o Watch Video Solution

0.25 x 0.25 — 0.24 x 0.24
) 0.49

2 =7

A. 0.0006


https://dl.doubtnut.com/l/_lDjdoURHEzDp
https://dl.doubtnut.com/l/_TxdcnPW6BgI6

B.0.49

C.0.01

D.0.1

Answer: C

o Watch Video Solution

3. The value of (5z — 3y)?

1,y = |
—Ly=4/5is

A 12

W

— (52 + 3y)*  when


https://dl.doubtnut.com/l/_TxdcnPW6BgI6
https://dl.doubtnut.com/l/_aKCjUkqbv3Sj

D. —30

Answer: A

o Watch Video Solution

4.8z — 27 divided by 4z + 6z + 9 s

A2x +3
B.—2x + 3
C.2x — 3

D. —(2z + 3)

Answer: C

[ -


https://dl.doubtnut.com/l/_aKCjUkqbv3Sj
https://dl.doubtnut.com/l/_7LmGqEAQrJS6

l & Watch Video Solution

5 23 x23x23—-1
"23x23+23+1

A.0.3

B.1.3

C.2.2

D. 3.3

Answer: B

o Watch Video Solution

6.a° + 3a’b + 3ab® + b° divided by a* + 2ab + b? is


https://dl.doubtnut.com/l/_7LmGqEAQrJS6
https://dl.doubtnut.com/l/_9XUWR5HxlowX
https://dl.doubtnut.com/l/_Ya5DWpPMOreN

A a’ + b

B.a + 2b

C.2a% + b?

D.a + b

Answer: D

o Watch Video Solution

7.(25.732)* — (15.732)% = ?

A.4.1464
B.41.464

C.414.64


https://dl.doubtnut.com/l/_Ya5DWpPMOreN
https://dl.doubtnut.com/l/_YIcVYM7CFU3t

D. 4164.4

Answer: C

o Watch Video Solution

2
1 1

8.If r + — = 8, then the value of (az — —) is
T x

A. 64
B. 60
C.16

D. 62

Answer: B



https://dl.doubtnut.com/l/_YIcVYM7CFU3t
https://dl.doubtnut.com/l/_JqB8W4t5fFxg

o Watch Video Solution J

9. The continued product of (z + 3)(z — 3)(z* + 9) is

A —z? + 81
B.z2 — 81
Cc.z* — 18

D.z* — 81

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JqB8W4t5fFxg
https://dl.doubtnut.com/l/_q1eab995ujtY

1 1
10.1f 2 + — = 7, find the value of 23 + —
x x

A9
B.18
C. 27

D. 14

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_i1L0O2ZwNeAe

